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log 728 = 2.8628 log 0.728 = .8621 +a 9.8621 - l o vlia -1 + .8621
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log a”. = n log a log (4.213)3 = 3 log 4.28
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6 4 9

1, log (4.5x1 07)  = log 4.5 + log 1 O7 = log 4.5 + 7 = 7.6532

=2. log (4.5x10  -7) = log 4.5 + log lO-7  log 4.5 - 7 = -7+.6532  =  ? .6532

3. log (3.75 x102)  = log 3.75 + log lo2 = log 3.75 + 2 =0.5740  +2  =2.5740

4 . log (6.6 xl 0 -27) = log 6.6 + log 1o-27  = 0.8195 - 27 = -27+0.8195  = -26.1805
.

5. log (60.3 xl 0 -8) = log (6.03~10-~)  = log 6.03 -7 = -6+.0.7803  = 7.7803 = -6.2197

6. antilog 3.8420 = (antilog 0.8420) x (antilog 3) = 6.95 x 1 O3

7. anti log 3 .8420 = (antilog 0.8420) x (antilog -3) = 6.95 x 10 -3

- 48. antilog -3.8420 = anti log (  4+.1580)  = (antilog 0.1580) x (antilog -4) =1.439 x 10


